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Q. 1) Simplify the following expression.
frafafed dee 1 @ S|

(V25 + 12 + 3 —[20 + (16 of 8 + 16) — (54 + 18 of

1/2))15+ 4 -(xo +¥'8/ = ;]
~__/
JEre By—13xL
K =
(b) 12 4 -39
(c) 22
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Q. 2) Simplify the following expression.

7 : 1_ E_E
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(a)-4/21 lfq\ .
(b) 5/21 ""? @ i
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a+8 - Ax8

100

|2+ 8 - 12x8
100

Ro - 096

Q. 3) The marked price on a book is Rs. 1,000.
In a book fair, it is available for sale with a
discount scheme offering two successive
discounts of 12% and 8%. What is the final
selling price (in Rs.) of the book for a customer
(rounded off to the nearest integer)?

U 3ifdd & Rs. 1,000 81 Th TP
gg,uan%\%mggﬂsa’mﬁﬁwéﬁmsﬁ

¥c UivAl & 91y fawt & fou Suasy 81 te
Ied & fo¢ gwae @1 sifaw fasea geg (Rs. #)

)
qoﬂaaaiquﬁmaﬁ)?
(b) 790

(c) 825 (d) 800
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Q. 4) 4. A shopkeeper purchase six small cold
drink bottles for Rs. 100. For how much should
he sell one such bottle to get a profit of 20%?

U® PSR Rs. 100 § Pics § @t o8 oIt
giad @edT 21 20% BT ATH U HI4 & faw
34 O v diaa &t feaa | ag=T 9ifge?

R 2

(c) Rs. 21 (d) Rs. 23
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Q. 5) An amount becomes double in 8 years on
simple interest. In how many years would Rs.

25,000 become Rs. 1,00,000 with the same rate

of interest?

|IYRYN 1o W TS A 8 a6 # SRT g1 SArelt
21 IHE 1 &3 W Rs. 25,000 31 7 fraa

aul # Rs. 1,00,000 g1 STEIT?
(a) 32 (b) 28

@16

4\«89&3‘%
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Q. 6) Meenu is 38 years old. Her daughter is 8

years old. In how many years will Meenu be

double her daughter’s age?

Hi #Y 3y 38 o 21 IWS! A P 31y 8 ¢ 2
fra auf # @i sro=t ft #t 3mg FY SR Bt
STgT?

< M D

@2 | 2 o g
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a,b,c Q. 7) Find the fourth proportional of 144, 192
N 1o f e ).144 192&?rzz16$ra§u13trraﬁmaﬁ|
(a) 361 N
© ‘urd pror —g{’i-_o_f_ﬁwe gALZAl
i 1) 324 :t';r
A (d) 289
= 23&
@ %Y%P\/ IOC-: ’éxg'_f>3a -
\j‘g@(&w(&') =
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Q. 8) A and B invested money in a business in
the ratio of 7:5. If 15% of the total profit goes
for charity, and A’'s share in the profit is Rs.
5,950, then what is the total profit?
AR BATP JIE A 7:5 F U § ¥
Frdw Reani af g amv @1 15% I ¥ Rig
oTeT @ 3R @y & A &1 f Rs. 5,950 €, o
o T e 87
_@Rs12500  [(B)Rs. 12,000

—(€)Rs-16;500 —{d)-Rs. 11,750




MATHCMATICS By Pradeep Sir

Q. 9) In a company, a piece of work can be
completed in 4, 6 and 18 days alone by R, S
- R — 4o and T, respectively. In how many days will the
work be completed if they work together?
(Rouded off to 2 decima Gﬁ{aces

(- S — 6D TP SUAT A 3Fd R, S AR T GR1 TS 314 P
Lem- PHI: 4, 6 MY 18 3T & 1 fFar &1 wHar 21
S T \ uﬁ%wmum&m%qga?ﬁﬁmﬁﬁﬂ’fﬁ
N - W1 EN? (@) SIHAT R 9 AP
3&;2 —e) 242

¥ —dy 321
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bo Q. 10) Suresh and Anil are working on a special

T N e project. Suresh takes 5 hours to type 40 pages and

Anil needs 6 hours to type 32 pages on a computer.
How much time will it take them to type a_110-

i éj— — 6 pe? pages assignment if they work on two different
J < computers?
T IR e T fadiy Molee WP R B
e ngmﬁmﬂw &4 H 5 °e ad
S+ > W R A F 32 AT TBU B H 6 U T 81 TS
3 Sl 3IET- 3T HLI| U HTH I 8,
ar ) U T U ATSTHC 18U A | fha=r

Lo 5 “‘5)\'3: <3 a) 8 hours 15 minutes / 8 ¢ 15 [+
As S S ) 8 hours / 8¢ |
! IS (c) 7 hours 35 minutes / 7 EI% 35 e
a\r\r —;Z(&e (c) 8 hours 40 minutes / 8 ¥¢ 40 fie
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Q. 13) A thief is spotted by a policeman from a
distance of 210 m. When the policeman starts
the chase, the thief also starts running. If the
speed of the thief is 25 km/hr and that of the
policeman is 32 km/hr, then how far would the
thief have run (in m) before he is overtaken?

@1 210 Hl & g W T IR
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sp- ?M B1Stn 5 Q. 14) Sudhin cycled at 8.5 km/hr for 4 hours,
[Otadl []me then took an auto and travelled at 20 km/hr

for 1.5 hours, and then walked at 4 km/h fory

hours. If Sudhin’s overall average speed for

the entire journey was 10 km/h, what is the
SH+ 3t 3 value of y?

=Py R gfg 34 42 & BT 8.5 km/he 3 a1 2

argfera garg, Y us sifel forar oiv 1.5 & frg
20 km/hr P A@ A AT @1, SRR y 9 &

EY Uy = 55 +\o 4 km/hr B TG | O T G g |
3 d gzﬁqaﬁmgmaﬁwaa@)_o‘km/h , dty &1
€y = 9 ogoi

T 82
. q CRNE
d,gv[§$

(a) 2 (b) 1.25
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Q. 15) f a+b+c=6 and a?+ b* + c? = 14,
then what is the value of (a—b)* + (b—0¢)* +
(c — a)? ?
gfe a+b+c=6 MR a2+b2+c2=14 §,
a—b)2 +(b—c)? + (c — a)? BT HIH T 82

9
a — 2, 1 2
( Tb,a—C)VC(L +5 +Cjz_/.2( cakﬂ:(-ﬁ(«)(\}
YA (a) -8

D Y2 (el 4 o)

®) 8 R (A% T+ (o TASENEN
@100 A ()
e
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P-o T Q. 16) If P = Q“ and q = "é: then find the
2 ( PH-a@2) value of%2-+-(:)—2.
(PE@>) UﬁP— V241 ;:% T_hp + : ST
P+a > olgjir'll > ¢ maﬂfﬁm
(a) 200 (ORED
P8 ple ok
@

i PO 3 () apg

A6~ 1Y 3 TQ«“
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'({””l ( '& - B( = g Q. 19) Using tan(4A — B) = lti?ai:;nni, find the
value of tan 15°.
) — 3_1— - tan(A — B) = 1ti?ai—;:annBB & IYUNT |/, tan 15° BT
3 — -
— - ;_ v [ Ta S
+ = -
| = " IR OREES!
l_, _Zﬁ (b) ‘/§ —:]
2N (©2-v3
(d)2++3
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Q.20)Ina AABC, if £ZA =90°, AC=5cm, BC =
9cmand in APQR, £.P=90°, PR=3cm, QR =8
cm, then:

> % AABC #, Tf £A = 90°, AC = 5cm, BC = 9
cmaﬁ?APQRﬁ, PR=3cm, QR = 8cm%,?ﬁ
e # & 19 a1 e 9d &2
o 0

(c) AABC = APQR (d) AABC = APQR
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Q. 21) Observe the given figure. The distance

between the two centers AB is

A arpfa H A ALR/U R Fal R AB &
d &t g3 fpa-t 82
(a) 10 cm
(b) 11 cm

(d) 12 cm
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Q. 22) A cone and a cylinder with equal radii
( oo C 544 ( have equal volumes. The ratio of their heights

IS;
U 391 918 U U 3R U a9 & AT
weh © R h, mﬁ%lﬂaﬁm;gmmﬁl
(a)2:3
9, A (:)3:4

kjaﬂ == d)3:1
A
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Q. 23) Area of a sector is 1848 m? and the
central angle of the sector is 270°. Find the

e g 5C radius of the circle. (Take n = 22/7)
'%:,E’\“?'*??\—'Q f%iﬁ fdt 99 & U Bsuds &1 &9%d 1848 m? 8

> 3R Preads &1 Fka Hivr 270° 81 g9 Bt B
: ITd DT (e = 22/7 BT WANT BIfoI0)
’YQ’: 7 R2 XS6 —EFT84m
~Z= 1YKSE )22 m A
—e)2Fm )
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Q. 24) The following diagram shows the rainfall
over two years. Which of the following months
shows the highest percenta e change in ramfall’?

fafafad ma‘fn‘f
mélﬁaﬁﬁaﬁqm aqfﬂ‘mﬁﬁiﬁ
ufa=ra ufvad= gfar

Rainfall (in mm) - aﬂf (mm ﬁ)

Rainfall - Emf
January - STast
March - ﬂ'ﬁf

May - g

July - JETS
September - IGaR

November dd<

(a) January / a3 (b) Septew
(c) May / Hg (d) March
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~— Q. 25) Quantity of various food items used by
Food March  April | May | June [EERCOTENIETLTERNLLIGEE O ERTEIR (LY )N
tom N | | TS JXRT GRT ¥ & 4 HEIA1 & G- SUANT &l
ZUBNELUNEIUNREN 1T qrerl fafis @rer uerdl &t amr (et ®) )
' ‘ What is the average quantity of food item C
used during all the months together?

TS A1y 9l 4 9EEl & gRE Iuah fHe e
el ugrd ¢ &t 7 fat 82

(a) 303.7 kg
(b)2925kg

(c) 211.8 kg /\}
|

(d) 253.6 kg

e



